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Parabola. The graph of a quadratic equation:
y = ax’+bx+c when a # 0

when a # 0

= aposiive, ¥ f Vertex. The lowest point of a parabola opening

] ane:;a‘:ize 2 upward or the highest point of a parabola opening
opens dovs;n | downward.

B | ] ‘B Link of Symmetry. The vertical line through the =

vertex.
» x-intercept, -2+ Vertex )
lety=0 Vertex Formula of parabola, y = ax™+bx+c (a # 0): Q
= x-coordinate = (-b)/(2a)
= y-coordinate, substitute x-coordinate in original o

equation and solve for y.

= y-intercept,
letx=0 4T

Line of Symmetry




